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( 32 g8 )
2.0 mol PCl; 1.0 mol Cl,
©PCl (g) +
Cl,( g) ==PCl,( g) PCl;  0.40mol
1.0mol PCL;  0.50 mol Cl,
PCl; ( ) -
A.0.40 B.0.20 mol
C. 0.20 mol D. 0.20 mol 0.40 mol
VL 2.0 mol PCl; 1.0 mol Cl,
PCl;  0.40 mol
VL/2 PCIL;  0.20 mol
VL/2 1.0 mol PCl;  0.5mol Cl,
VL2
VL
PCl; 0.20 mol.
L L Vi VL
T A / 0.2 mol PCLs \ —
2.0 mol PCL b= P} BT

PCL/J\“J‘

1.0 mol Cl. 0.4 mol 0. 2mol
PCL: v L/2, I /
I 0.1 mol PCls

0.5 mol CL

K=
c(PCL) / ¢(PCL) *¢(ClL) =(0.40 mol/V L) =+
1.6 mol/VL-(0.6mol/VL) =V/2.4( L/mol) .

1.0 mol PCl;  0.50 mol CI,
1.0 mol PCl; 0.5 mol Cl,. PCI,
x K=(x mol/VL) +
(1.0-x) mol/VL - (0.5 - x) mol/V L. =
V/2.4( L/mol) x=0. 133 mol C.

aA( g) ==bB(g) +cC(g).

a mol A

14 2

( 150400)
(3) a<b+c Cc .
a mol A 14
a mol A 2a mol A
2V aA( g) bB(g) +cC(g)
Dr, =0 a mol V
@t, =0  2a mol 2V
A B
\C . ©)
2V Vo
(1) a>b+c
A .
(2) a=b+c B
(3) a<b+ec
A.B.C
2
2A( g) +B(g) ==2C(¢g) A.B.C
4 mol.2 mol.4 mol.
(C).
A. B
C 1 mol D 1 mol
A.B.C 4 mol.
2 mol.4mol
A(g) +B(g) ==2C(g)
4 mol 2 mol 4 mol V
@D 2mol 1 mol 2 mol V/2
@ 8 mol 4 mol 8 mol 2V
@ S5mol 2.5mol 5 mol 1.25V
@ 3mol 1.5mol 3 mol 0.75V
A.B ; C
B 2.5 mol D B
1.5 mol
3 (1)
x mol NO, 2NO, (g) —
N,0,( g ¢(NO,) /¢( N,0,) =a.
) NO, >
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1
B. H,0(g)==H,(g) +702( g)
AH = +485 kJ * mol ™'
. C. 2H2( g) + 02( g) —ZHZO( g)
1 (2014 ) AH = +485 k] * mol !
1 mol H-H D. 2H,(g) +0,(g) =—=2H,0(g)
H-0 0=0 AH 436 kJ * mol ' AH = -485kJ * mol ™'
463 kJ * mol™" 495 kJ * mol ", AH >0
C ). A D AH =2 x463 kJ/mol — 436 kJ/mol — % «

A H,0(g) —H,( ) +50,(g)

495 kJ/mol =242.5 kJ/mol B

AH = —485 kJ * mol AH <0 C s AH =2 x436 kJ/mol +
> ¢(NO,) /¢(N,0,) =b b al NO, N,O, NO,
wor w_m w_» ). u _

® N,0, (2) K = ¢(H) *¢(L) / ¢H) *=

¢(NO,) /¢(N,0,) =c¢
(2)

c a.

a mol HI 2HI( g) ==H,(g) +
L(g) e(H,) fe( HI) = x.
HI
c(H,) /e(HI) =y  y_ «x
x mol NO, V.
NO, NO,
nx mol( n >1) nV.
2NO,( g) ==N,0,( g)
D, =0 x mol 0 |4
@r, =0 nx mol 0 nV
O @ ¢( NO,) /¢(N,0,)
@
nV Vv
¢(NO,) /¢( N,0,) b<a.
N,O,
¢( NO,) /¢( N,0,) c<a.
K =¢(N,0,)/ ¢(NO,) * =¢(N0,) =
¢(NO,) *¢(NO,) = ¢(N,0,) / ¢(NO,)

1/¢(NO,) =1/ a*¢(NO,)

HI ¢( H,) /c( HI)

a( g) +b(g) ==2c(g); AH<O0
x(g) +3y(g) ==22(g) ; AH, >0

(
) ( )
A. ¢
B. z
C.
D. z y
2
1 c
2
2
1 c
z 2
z 2
y .
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